
10/30/2019 techCONNECT Content

https://dealerconnect.chrysler.com/portal/Controller/Portal 1/5

1918

17 16

15

13

12

11

10

9

8
7

65

25

4

2

1

22

21

20

Item Description Part
Number

Qty Supersedence Tech
Tip

Engine Trans Line Body



10/30/2019 techCONNECT Content

https://dealerconnect.chrysler.com/portal/Controller/Portal 2/5

Item Description Part
Number

Qty Supersedence Tech
Tip

Engine Trans Line Body

1 RESONATOR,Air
Cleaner

53013517AD 1 No EZB J U 74

53013891AA 1 No EK0 J U 74

53013937AA 1 No EV0 J U 74

2 SCREW,Hex
Head,M6x1x35

-3 BOLT,Hex Flange
Head,M6X1.00X30.00

Resonator to Bracket 06105039AA 1 No EZ0 J U 74

4 BOLT,Hex Flange
Head

06505846AA 3 No DG0 J U 74

5 HOSE,Clean Air

53013522AC 1 No EK0 J U 74

53013965AA 1 No EV0 J U 74

6 BRACKET,Resonator

RESONATOR TO
TURBO TUBE 04861680AA 1 No EX0 J U 74

CAC INLET 04861696AB 1 No EX0 J U 74

7 NUT,Hex Flange
Lock,M8X1.25

06104716AA 1 No J U 74

8 BRACKET,Resonator

53013774AB 1 No EZB J U 74

9 HOSE,Air Cleaner to
Turbo

Includes Heater,
Sealing Ring &
Crankcase Vent Hose

53013672AD 1 Yes EXL J U 74

Includes Heater,
Sealing Ring &
Crankcase Vent Hose

53013672AE 1 Yes EXL J U 74

10 HOSE,Make Up Air



10/30/2019 techCONNECT Content

https://dealerconnect.chrysler.com/portal/Controller/Portal 3/5

Item Description Part
Number

Qty Supersedence Tech
Tip

Engine Trans Line Body

05037763AB 1 No ESF J U 74

53013759AB 1 No EZB J U 74

53013884AB 1 No EK0 J U 74

53013887AB 1 No EV0 J U 74

11 GROMMET,Air
Cleaner

53013357AA 1 No J U 74

12 AIR CLEANER

53013803AC 1 No EXL J U 74

13 BODY,Air Cleaner

05159169AA 1 No EZ0 J U 74

05159169AA 1 No EK0
EV0 J U 74

05159169AA 1 No ESF J U 74

-14 STUD

Resonator Bracket to
Engine 53013378AA 2 No EK0 J U 74

15 COVER,Air Cleaner

05143969AA 1 No ESF J U 74

05143968AA 1 No EK0
EV0 J U 74

05143969AA 1 No EZ0 J U 74

16 SCREW,6
Lobe,M6X1.00X12.00

06104004AA 1 No EX0 J U 74

17 RESONATOR,Air
Cleaner

05175733AA 1 No EXL J U 74

18 O RING

05175734AA 1 No EXL J U 74

19 BOLT

05073824AA 1 No EX0 J U 74



10/30/2019 techCONNECT Content

https://dealerconnect.chrysler.com/portal/Controller/Portal 4/5

Item Description Part
Number

Qty Supersedence Tech
Tip

Engine Trans Line Body

20 BRACKET,Air Duct

05175722AA 1 Yes EXL J U 74

68037029AA 1 Yes EXL J U 74

21 COUPLER

68057654AA 1 No EZB J U 74

68057653AA 1 No EV0 J U 74

22 COUPLER

68057659AA 1 No EZB J U 74

-23 NUT,Hex Flange
Lock,M10x1.50

06104717AA 2 No EX0 DG0 J U 74

06104717AA 2 No EK0 DG0 J U 74

06104717AA 2 No
ES0
EV0
EZ0

J U 74

-24 FILTER,Air

05018777AB 1 No EZ0 J U 74

05018777AB 1 No ESF J U 74

05018777AB 1 No EXL J U 74

05018777AB 1 No EK0
EV0 J U 74

25 HEATER

Included With Item 9 04861678AA 1 Yes EXL J U 74

Included With Item 9 04861678AB 1 Yes EXL J U 74

-26 HOSE,Crankcase
Vent

Included With Item 9 04861677AB 1 No EXL J U 74

-27 LATCH,Air Cleaner

68247835AA 1 No EK0
EV0 J U 74

68247835AA 1 No EZ0 J U 74

68247835AA 1 No ESF J U 74



10/30/2019 techCONNECT Content

https://dealerconnect.chrysler.com/portal/Controller/Portal 5/5

Note: Negative (-) item numbers indicate no illustration available.


